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8 EE). FEARIOVLWTERERLETHELE>TWAR LRSS EFEDEIG 7A. 128, 38 : Z2fiIC1E0RE (%)
R2 R3 R4 R5 R6
68 | 68 78 128 3B |68 1A 12 3B |7A 12B 3B |78 12B 3A
LERDENERMEET 7> DBEIEZEE (53) 88.0 95.0
SRS X T LER (BR - 53) 86.7 | 86.7 88.5 86.5
ARDEZEE (214F) 80.0 88.0 92.0 95.0
AROIER (21K) 75.2(91.4:86.0:93.3:94.1(86.2:89.0:91.5:91.7[87.9: 89.2
AROFER (&1) -l - —-—i =1 =] =1 = — i — |846:86.4
AROIER (§2) - -¢t =3 =411 -1 =1 =1 — 196.9:895
AROER (B3) 60.5(89.6:84.4:93.6: — [796:81.3:822: — |84.4:91.7: — —
15 HEOBREOEEFERIIOVWTEZSEREDEE (%)
R2 R3 R4 R5 R6
68 | 68 78 128 3B |68 78 128 3B | 7B 12B 3B | 7B 12B 3R
LERDZHBERMEES 7 > DEIEZEE (F3) 60.0 70.0
SRBIHMES X T LR (BEWN - 53) 54.9 | 58.4 55.7 57.5
AROBZEE (21) 40.0 60.0 65.0 70.0
AROIER (£15) 333325 — :753:84.7|40.6:52.2:785:82.1|62.9: 585
AROER (&1) -l - - =i =] =i =1 — i — |564:i455
AROER (&2) - - - -t =] =i = =1 — 1625553
AROBER (B3) 25.6(29.2: — 1702 — [55.1:56.3:57.8: — [689:729: — —
38 RPET. #H#HLICELNELL THEDH OB T Z2EFEDES (%)
R2 R3 R4 R5 R6
68 | 68 78 128 3B |68 1A 12 3B | 7R 12B 3B |78 12B 38
LERDOENBERHEET 7 DBEIZEE (53) 78.0 80.0
ERBHITEY X T LER (BER - 53) 75.7| 75.6 73.9 73.9
ARDBIZEE (£4) 70.0 78.0 79.0 80.0
AROIER (£21F) 61.5|64.9:69.1:68.7:72.9|65.9:76.5:73.1:72.6|69.8:64.6
AROER (&1) -l - - =41 =] =1 =i =1 — |76.9:659
AROIER (§2) -l - =i =i =1 =1 = — 1 — 1563500
AROFER (B3) 62.8(58.3:64.4: 745! — |[653:70.8:689: — |733:75.0; — —
74 BECEK - BELEEFHNRICOWVWT. BENICARY A (T -EEDOEE (%)
R2 R3 R4 R5 R6
68 | 68 78 128 3B |68 78 128 3B | 7B 12B 3B | 7B 12B 3R
LERDZHERMETZ D BIEE (53) 65.0 70.0
SRS X T LR (BA - 53) 59.7 | 60.6 56.8 61.0
(REVEBENFEER, REFTORRE, #iZICFAHLI2EBORE) OFHMIEE 50.0 65.0 67.0 70.0
AROFER (21F) 45.3(56.3:65.4:64.0: 64.7(50.0: 60.3:68.3:70.2|66.4: 64.6
AROFER (&1) -l-t -3¢ =1 -1 =1 =1 — 1615591
AROER (52) -l - - =1 =1 =1 =1 =1 — |656i63.2
AROBER (B3) 46.5(60.4:689:723: — [583:583:60.0: — [71.1:70.8: — —




